Vapor-Liquid Interface Problem

Monday, September 11, 2017 9:20 AM

Liquid benzene (C6H6) at 298 K is contained in a
1-cm-diameter glass tube and maintained at a
level 10 cm below the top of the tube, which is
open to the atmosphere. The following
properties of benzene are given:

Thoil 353K @ 1 atm

htg 393 kl/kg @ Thoil
MWgsHs 78.108 kg/kmol

MW, 28.85 kg/kmol

o] 897 kg/m?3

Dcers-air 0.88 x 10° m?/s @ 298 K

A) Determine the mass evaporation rate (kg/s)
of the benzene.

B) How long does it take to evaporate 1 cm?3 of
benzene?

M 2
A\ e "l{, U//

. @ DQ L ( | "‘H)Q.Hc/oo\
m ... = _i‘i@_‘_/.; XN ==




G, - T Yo
. N
0 s
Yooop
07 )T
U
lQoHa,(J
) MW
L?Q.Rc.,'c h XQ&HCH‘L \W\\UQ:)(L
i? Aty - o (TAZ*)
Q. ]
a0 _ heg AT
P e, T

XA(,@BJ,AL\LP g
| o mwcou(, AR

e = 0.4 0 @ zaw K

(2.0 M~ lus A e

)



A . —  vduy e Kl "
T i SR R
i~ [
W\\Qm;,,,z = . (a5 MW, *+ (1-0.195)M8,
— 5. 919 K}/}CMD(
=
Himd’:_©wug gﬁf&l:oﬁw7

(35779)

T
\_’>m10 — é&mwm;,(/a =¥ mlll)f*'\\x/ a0
Q> 2L . M2 {01 } ko |




)

\ <77/
o |/ gy
M\ - G DCu H G

(e Ln - \&QHG'OD
L_( /\_’ ch,al-{“'c

S UYeq x 57 kj/Ssz

L 2 -
Mm = m (D—-> = 3 4 XI6 }Ij/S

Y

| = Mguep — Q“L\/ = Burd A w;js

—

—_—

Mune M o, Ay g



